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At the front of this book, write your 
surname and forename(s), your centre 
number, your candidate number and add 
your signature. 
 
 
MATERIALS 
You will need no other materials. 
 
 
INSTRUCTIONS 
 
• Use black ink or black ball-point pen. 
• Answer ALL questions. 
• You must answer the questions in the 

spaces provided.  Do not write on blank 
pages. 

• If you need extra space for your 
answer(s), use the lined pages at the 
end of this book.  Write the question 
number against your answer(s). 
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• Do all rough work in this book.  Cross 
through any work you do not want to 
be marked. 

 
 
INFORMATION 
 
• The marks for questions are shown in 

brackets. 
• The maximum mark for this paper is 80. 
• Questions carrying 10 marks or more 

should be answered in continuous 
prose.  In these questions you will be 
marked on your ability to: 
− use good English 
− organise information clearly 
− use specialist vocabulary where 

appropriate. 
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DO  SO 
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CRIME  AND  DEVIANCE 
 
Answer ALL questions. 
 
 
0 1 

 

Outline TWO reasons why surveillance 
may NOT reduce crime.  [4 marks] 
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Outline THREE reasons for social class 
differences in patterns of offending.   
[6 marks] 
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0 3 
 

Read ITEM A below and answer the 
question that follows. 
 
 
ITEM A 
 
Some argue that social order is 
maintained in society by reinforcing 
social solidarity.  Others argue that the 
ruling class maintain social order by 
controlling the working class. 
 
Punishment may help to maintain social 
order. 
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Applying material from ITEM A, analyse 
TWO ways that punishment may help to 
maintain social order.  [10 marks] 
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0 4 
 

Read ITEM B below and answer the 
question that follows. 
 
ITEM B 
 
The increased interconnections across 
the globalised world have created new 
opportunities for crime and also new 
types of crime.  For example, the rise of 
new technology has led to the 
development of cybercrime.  Marxists 
argue that reduced control over finance 
and corporations has led to increased 
insecurities, inequalities and crime. 
  
However, others have argued that 
globalisation has enabled more effective 
ways of tackling crime.  For example, 
states may cooperate in tackling 
international crimes such as green 
crimes and human rights abuses. 
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Applying material from ITEM B and your 
knowledge, evaluate the view that 
globalisation has led to increased levels 
of crime.  [30 marks] 
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THEORY  AND  METHODS 

 
 
0 5 

 

Outline and explain TWO reasons why 
interpretivists prefer to use qualitative 
methods of research.  [10 marks] 
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0 6 
 

Read ITEM C below and answer the 
question that follows. 
 
ITEM C 
 
Feminists argue that society continues 
to be patriarchal.  Radical feminists 
argue that patriarchy is the most 
important organising principle in society 
and strongly disadvantages women.  
Examples of this include the gender pay 
gap in employment as well as the 
inequalities and oppression experienced 
in the private world of the family. 
  
However, Marxists would argue that 
many feminists ignore the influence of 
capitalism as an organising principle in 
determining inequalities and oppression 
in today’s society. 
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Applying material from ITEM C and your 
knowledge, evaluate the extent to which 
today’s society can be seen as 
patriarchal.  [20 marks] 
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  Additional page, if required. 
 Write the question numbers in the 
 left-hand margin. 
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  Additional page, if required. 
 Write the question numbers in the 
 left-hand margin. 
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 Write the question numbers in the 
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